PRERNA EDUCATION

11T/ MEDICAL/ FOUNDATION

SAMPLE QUESTIONS
INTRODUCTION TO TRIGONOMETRY

Q.No. 1 What is the value of cos1°,cos 2°, cos 3° €0s180°.
(@)1 (b)0O (d) None of these
Ans. (b)

Q.No. 2 Iftan A =cot B, then A+B=7?
(a) 45° (b) 60° (d) 30°

1
Q.No. 3 The value for cot? @ gt will be
sin

(a)1 (b) -1 (d) None of these
Ans. (b)

Q.No.4 If tand = E, then the value of X
X a’+x°
(a)sind (b)cosecé (c)cosé (d) secd

Q.No. 5 If @ =45°, then what is the value of 2sec? 8+ 3cosec?d ?
(a) 6 (b)5 (c)-1

Q.No. 6 Given that sin (A+B)=sin A cos B+ cos A sin B, then the value of sin 75°.

J3-1 N 2J3+1 J3+1

— (d)None of these

(a) e (b) NG (c) 72

Q.No. 7 If tan®# =1—-a* then secd+tan* 0 ="?
(a) (2-a?) (b)(2-a%)" (0)(2-a2) (d)(2-a?)"”
Ans. (d)

Q.No. 8 If sin@+sin”@=1Find the value of cos'26 + cos°0 + cos®6 + cos®0 + cos*6 +
cos%6 —27?
(a)1 (b) O (c)2 (d) -1
Ans. (a)

Q.No. 9 On expressing sin81°+tan81°in terms of trigonometric ratios at angles between 0° and
45° what shall we get ?




(a) cos81°+cot81° (b)sin9°+cot9° (c)cos9°+cot9° (d) None of these
Ans. (c)

.o l+tan® A
Q.No. 10 On simplify : ————7?
1+cot” A

(a) cot* A (b) tan®* A (c)sin® A

Q.No. 11 What is the value of 1—s!n 0 ?
\/1+sm 0

(a)secd—tand (b)sind—cosb (c)cos@—sind (d)None of these

CoOS CoOSa

Q.No. 12 If ——=m&

=n, then value of (m2 + nz)cos2 [, will be?
cos B cos

(a)m? (b) n? (c)m® +n?

Q.No. 13 The value for secO+tano—1 will be ?
tan @ —secd +1

cosé@ secd
b d) N fth
(a)l—sine ( )1—c039 y (d) None of these

Ans. (3)

Q.No. 14 Find the value of (asin@+bcosd), if acosd-bsind=C ?
(a) +Vb® +¢? —a? (b) Va+b? —c? (c)va® +c*-b? (d) None of these

Ans. (b)

Q.No. 15 Evaluate, %cos ec’58° — % cot58°tan32°— g tan13°tan 37°tan 45°tan58°tan 77°

(a)1 (b) 0 (©) 2 (d)-1

Q.No. 16 The value for z(sin6 6+ cos® 9) —3(sin4 6+ cos* 9) +1, will be?
(a) 2 (b)1 (c)-1 (d)o

1 sin A

tan A i 1+cosA
(@1 (b) 2 (c) -1

Q.No. 17 If cosec A =2, find the value of

No. 18 (1+cot A+tan A)(sin A—cos A)
g. 0.
sec® A—cosec®A

(a) cos? Atan® A (b) sec? Atan? A (c)sin? Acos® A (d) cos® Acot® A

,, will equal to?




COS A sin A

Q.No. 19 + , will equal to ?c
l1-tanA 1-cotA q

(a) sin A+ cosec A (b)cos A +sec A (c)sinA+tan A (d)sinA+cos A
Ans. (d

(L+sin)(1-sing)
(1+cos@)(1-cosO)

Q.No. 20 If cotd = g evaluate

49 64 49 100
(3) &2 ®) 100 () 700 (4 51

Ans. (a)

Q.No. 21 If (cosecd—sin @) =1 and (sec&—cos &) = m, Find the values for 1°’m’ (I2 +m? +3) ?

(a)o (b)-1 (c)2 (d)1
Ans. (d)

2sin? A+ 3cot? A,

Q.No. 22 If cosecAV2, find the value of ?
4Atan? A—cos? A
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